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(L—af)/c
lE, 87 = f Bplcxtd) B, (cx+a’) d =
(t-d}/(._
b
- [ Baly) bty dly = gi M=
a ) % m# n

§9bm9 is orthonormal set in La(ﬂ%a)h;—d)

To complete the argument , we show fm;’ef"y (a)

in Thm 3.4 ¢ satishied .
fuppoje fe: L(“ d b- ‘") is such that _(f,’;ﬁ):o
for all n. we nceol to show f:o
(L-dVe
&, a7 V[ f6) d(cxt d) dx
(a—d)/c

= |2 )gé(g)dtj =0 , ¥n .

A

Cince §¢n§ i or-{-[.onofﬂ’\ﬂj Lfdi; ; the 'puhcéa‘or\
{ -
EJC(H‘EQJ =0 for a.e Yin [a,h)

HCHCC :‘JC =0 j[of a.€. 9 [~ '_:_S‘d Jj
g%s is orthonorma hasic in L(%‘!/ L"g{)



(329)

i

g""“?f’%ose §cbh\§p Is orthonormal basis Jor L_Ccz b)
lek 5 96 CLCQ b .
Then f Z <t ESE, , Conl@ifnld (n horfiL

Z<§ &> <9,d>> —> <5,5> s N>R

| ZG &> <g by = 'Zéf <) g )= (Z<§¢n>cbh>%>

'"'"'_——> <Z<§¢?\>¢h)g'> <')C g>
\aj poVem £ |

Extra Problem: Prove Cauchy-Schwarz inequality

Proof. O<f |f(z) —dg(x )|2d93
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Without loss of generality, can absumef |g )|2d1- < 0. Take § = Jrfjé‘”(gﬁ‘:iiﬁ,
conclude that 0 < f |f(x |2d.1,—|—|f f(z)g(x)dz|? /f |g(z)|*dz. Reorganize

the terms, we get the result. O



